




























A2.1

3

A2.14

A2.1

A2.1

1

2

1

3

BA

2

1
A3.1

2
A3.1

3
A3.1

A1

5'
 - 

0"
50

' -
 0

"
5'

 - 
0"

2' - 6" 25' - 0" 2' - 6"

1:
12

2:12

STANDING SEAM
METAL ROOF

METAL VALLEY FLASHING

A2.1

3

A2.14

A2.1

A2.1

1

2

1

3

BA

2

1
A3.1

2
A3.13

A3.1

A1

5

A4.1

7

A4.1

PTD. PW. CEILING

96” FLOURESCENT
LIGHT FIXTURE (TYP.)

LED TAPE IN WALL
RECESS (TYP.)

PT 2X6 T&G SHEATHING
(TYP.)

PT 5 X 15.125 GLULAM RAFTER
(TYP.)

PT 10.5 X 27.5 GLULAM
BEAMS

PT 10.5 X 35.75 GLULAM
VALLEY BEAM

51211

AROL
IN

CHT
ON AR

H E D,
N

SG
A

A

N C

D
E
R
E
T

SI
G
E

R

AR
CH

IT TEC URAL
CO

R
P
O
R
A
IO
N

T

ANETSAK
&

C
A
H
O
O
N

RCH

IT
E
C
T
S
,
P.C

.

7220

M
A

R
K

AR EY KAS

T
E
N

DERETSI
GE

R

ARCHIT

T

AROL
IN

CHT
ON

EC

AR

H E D,
N

SG
A

A

N C

D
O

W
D

Y 
PA

R
K

 - 
PH

A
SE

 1
SI

TE
 D

EV
EL

O
PM

EN
T 

PL
A

N

CONSTRUCTION
DO NOT USE FOR

DATE:

DRAWN BY:

DESIGNED BY:

PROJECT NO:

FILE:

PRELIMINARY PLANS
FOR REVIEW ONLY

SCHEMATIC DESIGN

R
E
V
IS
IO
N
S

TO
W

N
 O

F 
N

A
G

'S
 H

EA
D

, N
C

30
05

 S
O

UT
H 

CR
O

AT
AN

 H
IG

HW
AY

TOWN OF NAGS HEAD
DEPARTMENT OF PUBLIC WORKS

P.O. BOX 99
NAGS HEAD, NC 27959

252.441.1122 ▪ www.nagsheadnc.gov

CLH Design, PA
400 Regency Forest Dr.
Suite 120

Phone: 919.319.6716
Fax:   919.319.7516

Cary, NC 27518

LA: C-106 PE: C-1595

CLHDESIGN

cahoon kasten
118 West Woodhill Drive
Nags Head, North Carolina 27959

252.441.0271 252.441.8724
office@obxarchitects.com

+

P. F.
E.

A     R     C     H     I     T     E     C     T     S

16005RF

Pavilion Roof & Reflected Ceiling
Plans

June 2, 2016

MAK

MAK

A1.2

06/27/16

 1/4" = 1'-0"1 Roof Plan
 1/4" = 1'-0"2 (1) First Floor

N
o.

D
es

cr
ip

tio
n

D
at

e
1

AD
D

EN
D

U
M

 #
2

06
/2

7/
16

1



A2.1

3

A2.14

A2.1

A2.1

1

2

1

3

BA

2

1
A3.1

2
A3.1

A1

A4.3
3

TYP. ALONG
VALLEY BEAM
U.N.O.

TY
P.

60
"

60
"

60
"

30"

TIE RAFTERS TO BEAMS WITH
5/8" GALV. LAG SCREW WITH
12” EMBEDMENT INTO BEAM
(TYP.)

A

B

C

C

C

C

C

C

C

C

C

D

E

PT 10.5 X 27.5 GLULAM BEAMS

PT 10.5 X 35.75 GLULAM VALLEY
BEAM

HOT-DIPPED GALV.
STEEL RAFTER TIE AT
VALLEY BEAM (TYP.)

PT 5 X 15.125 GLULAM RAFTER
(TYP.)

CUT BEAM
END PLUMB
WITH ROOF

A4.3
4

A4.3
5

A4.3
2

A4.3
1

1
1

1

1

PT 10.5 X 27.5 GLULAM

8” HOT-DIPPED GALV. STEEL
COLUMN (TYP.)

PT 5 X 15.125 GLULAM
RAFTER (TYP.)

HOT-DIPPED GALV. STEEL
RAFTER TIE AT VALLEY (TYP.)

CUT BEAM
END PLUMB
WITH ROOF

CUT BEAM END
PLUMB WITH
ROOF

TAPER ALL CANTILEVERED
BEAM ENDS AS SHOWN

51211

AROL
IN

CHT
ON AR

H E D,
N

SG
A

A

N C

D
E
R
E
T

SI
G
E

R

AR
CH

IT TEC URAL
CO

R
P
O
R
A
IO
N

T

ANETSAK
&

C
A
H
O
O
N

RCH

IT
E
C
T
S
,
P.C

.

7220

M
A

R
K

AR EY KAS

T
E
N

DERETSI
GE

R

ARCHIT

T

AROL
IN

CHT
ON

EC

AR

H E D,
N

SG
A

A

N C

D
O

W
D

Y 
PA

R
K

 - 
PH

A
SE

 1
SI

TE
 D

EV
EL

O
PM

EN
T 

PL
A

N

CONSTRUCTION
DO NOT USE FOR

DATE:

DRAWN BY:

DESIGNED BY:

PROJECT NO:

FILE:

PRELIMINARY PLANS
FOR REVIEW ONLY

SCHEMATIC DESIGN

R
E
V
IS
IO
N
S

TO
W

N
 O

F 
N

A
G

'S
 H

EA
D

, N
C

30
05

 S
O

UT
H 

CR
O

AT
AN

 H
IG

HW
AY

TOWN OF NAGS HEAD
DEPARTMENT OF PUBLIC WORKS

P.O. BOX 99
NAGS HEAD, NC 27959

252.441.1122 ▪ www.nagsheadnc.gov

CLH Design, PA
400 Regency Forest Dr.
Suite 120

Phone: 919.319.6716
Fax:   919.319.7516

Cary, NC 27518

LA: C-106 PE: C-1595

CLHDESIGN

cahoon kasten
118 West Woodhill Drive
Nags Head, North Carolina 27959

252.441.0271 252.441.8724
office@obxarchitects.com

+

P. F.
E.

A     R     C     H     I     T     E     C     T     S

16005RF

Pavilion Roof Framing Plan

June 2, 2016

MAK

MAK

A1.3

06/27/16

 1/4" = 1'-0"1 Roof Plan2 Roof Framing Iso

N
o.

D
es

cr
ip

tio
n

D
at

e
1

AD
D

EN
D

U
M

 #
2

06
/2

7/
16

CUT BEAM
END PLUMB
WITH ROOF

CUT BEAM
END PLUMB
WITH ROOF

1



(1) First Floor
0"

(0) T.O. Foundation
-2' - 0"

T.O.P. Rafters
8' - 6"

Closet
3/4"

B A

2
A3.1

Top Column B1
9' - 7 3/4"

Top Column B2
12' - 3 7/8"

Top Column A1&3
13' - 9 3/4"

HOT-DIPPED GALV.
STEEL COLUMN (TYP.)

CEDAR SHINGLE SIDING (TYP.)

CONC. OVER STEEL COLUMN

PT GLULAM BEAMS

PT GLULAM RAFTERS
(TYP.)

PT 2X6 T&G SHEATHING

METAL STANDING
SEAM ROOF

(1) First Floor
0"

(0) T.O. Foundation
-2' - 0"

T.O.P. Rafters
8' - 6"

Closet
3/4"

13 2

1
A3.1

Top Column B1
9' - 7 3/4"

Top Column B2
12' - 3 7/8"

5

A4.1

Top Column A1&3
13' - 9 3/4"

7

A4.1

HOT-DIPPED GALV.
STEEL COLUMN (TYP.)

CEDAR SHINGLE SIDING (TYP.)

CONC. OVER STEEL COLUMN

PT GLULAM BEAMS

PT GLULAM RAFTERS
(TYP.)

PT 2X6 T&G SHEATHING

METAL STANDING
SEAM ROOF

10
 1

/2
"

1'
 - 

5 
1/

2"

(1) First Floor
0"

(0) T.O. Foundation
-2' - 0"

T.O.P. Rafters
8' - 6"

Closet
3/4"

BA

2
A3.1

Top Column B1
9' - 7 3/4"

Top Column B2
12' - 3 7/8"

Top Column A1&3
13' - 9 3/4"

HOT-DIPPED GALV.
STEEL COLUMN (TYP.)

CEDAR SHINGLE SIDING (TYP.)

PT GLULAM BEAMS

PT GLULAM RAFTERS
(TYP.)

PT 2X6 T&G SHEATHING

METAL STANDING
SEAM ROOF

PTD. HOLLOW GALV.
METAL DOOR & FRAM

1

(1) First Floor
0"

(0) T.O. Foundation
-2' - 0"

T.O.P. Rafters
8' - 6"

Closet
3/4"

1 321
A3.1

Top Column B1
9' - 7 3/4"

Top Column B2
12' - 3 7/8"

Top Column A1&3
13' - 9 3/4"

HOT-DIPPED GALV.
STEEL COLUMN (TYP.)

CEDAR SHINGLE SIDING (TYP.)

PT GLULAM BEAMS

PT GLULAM RAFTERS
(TYP.)

PT 2X6 T&G SHEATHING

METAL STANDING
SEAM ROOF

PTD. HOLLOW GALV.
METAL DOOR & FRAM
(TYP.)

CONC. OVER
STEEL COLUMN

10
 1

/2
"

8 
5/

16
"

TAPER CANTILEVER
BEAM ENDS AS SHOWN

TAPER CANTILEVER
BEAM ENDS AS SHOWN1'

 - 
5 

1/
2"

51211

AROL
IN

CHT
ON AR

H E D,
N

SG
A

A

N C

D
E
R
E
T

SI
G
E

R

AR
CH

IT TEC URAL
CO

R
P
O
R
A
IO
N

T

ANETSAK
&

C
A
H
O
O
N

RCH

IT
E
C
T
S
,
P.C

.

7220

M
A

R
K

AR EY KAS

T
E
N

DERETSI
GE

R

ARCHIT

T

AROL
IN

CHT
ON

EC

AR

H E D,
N

SG
A

A

N C

D
O

W
D

Y 
PA

R
K

 - 
PH

A
SE

 1
SI

TE
 D

EV
EL

O
PM

EN
T 

PL
A

N

CONSTRUCTION
DO NOT USE FOR

DATE:

DRAWN BY:

DESIGNED BY:

PROJECT NO:

FILE:

PRELIMINARY PLANS
FOR REVIEW ONLY

SCHEMATIC DESIGN

R
E
V
IS
IO
N
S

TO
W

N
 O

F 
N

A
G

'S
 H

EA
D

, N
C

30
05

 S
O

UT
H 

CR
O

AT
AN

 H
IG

HW
AY

TOWN OF NAGS HEAD
DEPARTMENT OF PUBLIC WORKS

P.O. BOX 99
NAGS HEAD, NC 27959

252.441.1122 ▪ www.nagsheadnc.gov

CLH Design, PA
400 Regency Forest Dr.
Suite 120

Phone: 919.319.6716
Fax:   919.319.7516

Cary, NC 27518

LA: C-106 PE: C-1595

CLHDESIGN

cahoon kasten
118 West Woodhill Drive
Nags Head, North Carolina 27959

252.441.0271 252.441.8724
office@obxarchitects.com

+

P. F.
E.

A     R     C     H     I     T     E     C     T     S

16005RF

Pavilion Exterior Elevations

June 2, 2016

MAK

MAK

A2.1

06/27/16

 1/4" = 1'-0"1 North Elevation
 1/4" = 1'-0"2 West Elevation

 1/4" = 1'-0"3 South Elevation
 1/4" = 1'-0"4 East Elevation

N
o.

D
es

cr
ip

tio
n

D
at

e
1

AD
D

EN
D

U
M

 #
2

06
/2

7/
16

1 1

1



(1) First Floor
0"

(0) T.O. Foundation
-2' - 0"

T.O.P. Rafters
8' - 6"

Closet
3/4"

BA

2
A3.1

Top Column B1
9' - 7 3/4"

Top Column B2
12' - 3 7/8"

2' - 6"25' - 0"2' - 6"
A4.1

1

A4.1
2

A4.1
3

A4.1
4

2:12
1:

12

Top Column A1&3
13' - 9 3/4"

HOT-DIPPED GALV.
STEEL COLUMN (TYP.)

CEDAR SHINGLE SIDING
(TYP.)

CONC. OVER STEEL
COLUMN

PT GLULAM BEAMS

PT GLULAM RAFTERS
(TYP.)

PT 2X6 T&G SHEATHING

METAL STANDING
SEAM ROOF

2X6 WOOD FRAM
CONSTRUCTION

CONC. SLAB-ON-GRADE

CONC. FOUNDATION
WALLS AND FOOTINGS (1) First Floor

0"

(0) T.O. Foundation
-2' - 0"

T.O.P. Rafters
8' - 6"

Closet
3/4"

13 2
1

A3.1

Top Column B1
9' - 7 3/4"

Top Column B2
12' - 3 7/8"

1:12

Top Column A1&3
13' - 9 3/4"

HOT-DIPPED GALV.
STEEL COLUMN (TYP.)

CEDAR SHINGLE SIDING (TYP.)

PT GLULAM BEAMS

PT GLULAM RAFTERS
(TYP.)

PT 2X6 T&G SHEATHING

METAL STANDING
SEAM ROOF

2X6 WOOD FRAM
CONSTRUCTION

CONC. SLAB-ON-GRADE

CONC. FOUNDATION
WALLS AND FOOTINGS

A4.1
4

Sim

(1) First Floor
0"

(0) T.O. Foundation
-2' - 0"

T.O.P. Rafters
8' - 6"

Closet
3/4"

Top Column B1
9' - 7 3/4"

Top Column B2
12' - 3 7/8"

Top Column A1&3
13' - 9 3/4"

HOT-DIPPED GALV.
STEEL COLUMN (TYP.)

CEDAR SHINGLE SIDING (TYP.)

PT GLULAM BEAM

PT 2X6 T&G SHEATHING

METAL STANDING
SEAM ROOF

CONC. OVER STEEL
COLUMN

A4.1
7

Sim

A4.1
5

Sim

1'
 - 

5 
1/

2"

1'
 - 

5 
1/

2"

51211

AROL
IN

CHT
ON AR

H E D,
N

SG
A

A

N C

D
E
R
E
T

SI
G
E

R

AR
CH

IT TEC URAL
CO

R
P
O
R
A
IO
N

T

ANETSAK
&

C
A
H
O
O
N

RCH

IT
E
C
T
S
,
P.C

.

7220

M
A

R
K

AR EY KAS

T
E
N

DERETSI
GE

R

ARCHIT

T

AROL
IN

CHT
ON

EC

AR

H E D,
N

SG
A

A

N C

D
O

W
D

Y 
PA

R
K

 - 
PH

A
SE

 1
SI

TE
 D

EV
EL

O
PM

EN
T 

PL
A

N

CONSTRUCTION
DO NOT USE FOR

DATE:

DRAWN BY:

DESIGNED BY:

PROJECT NO:

FILE:

PRELIMINARY PLANS
FOR REVIEW ONLY

SCHEMATIC DESIGN

R
E
V
IS
IO
N
S

TO
W

N
 O

F 
N

A
G

'S
 H

EA
D

, N
C

30
05

 S
O

UT
H 

CR
O

AT
AN

 H
IG

HW
AY

TOWN OF NAGS HEAD
DEPARTMENT OF PUBLIC WORKS

P.O. BOX 99
NAGS HEAD, NC 27959

252.441.1122 ▪ www.nagsheadnc.gov

CLH Design, PA
400 Regency Forest Dr.
Suite 120

Phone: 919.319.6716
Fax:   919.319.7516

Cary, NC 27518

LA: C-106 PE: C-1595

CLHDESIGN

cahoon kasten
118 West Woodhill Drive
Nags Head, North Carolina 27959

252.441.0271 252.441.8724
office@obxarchitects.com

+

P. F.
E.

A     R     C     H     I     T     E     C     T     S

16005RF

Pavilion Building Sections

June 2, 2016

MAK

MAK

A3.1

06/27/16

 1/4" = 1'-0"1 Section 1
 1/4" = 1'-0"2 Section 2

 1/4" = 1'-0"3 Section 3

N
o.

D
es

cr
ip

tio
n

D
at

e
1

AD
D

EN
D

U
M

 #
2

06
/2

7/
16

TAPER CANTILEVER
BEAM ENDS AS SHOW

1



A

Top Column A1&3
13' - 9 3/4"

5/8" HOT-DIPPED GALV. LAG
SCREW WITH 12" EMBEDMENT
INTO BEAM AT EACH RAFTER

METAL ROOF

 PT 10.5X27.5 GLULAM

PT 2X6 T&G SHEATHING

PT 5 X 15.125 GLULAM
RAFTERS 60" O.C. CUT AS
INDICATED AT EAVE
(TYP.)

2
12

12
"

2' - 6"

8 
15

/1
6"

METAL DRIP (TYP.)

5/8" HOT-DIPPED GALV. LAG
SCREW WITH 12" EMBEDMENT
INTO BEAM AT EACH RAFTER

METAL ROOF

 PT 10.5X35.75 GLULAM

PT 2X6 T&G SHEATHING

PT 5 X 15.125
GLULAM RAFTERS
60" O.C.

12
"

3/4" HOT-DIPPED GALV.
STEEL BOLTS (TYP.)

LINE OF STEEL PLATE
CONNECTION

METAL VALLEY FLASHING

B

5/8" HOT-DIPPED GALV. LAG
SCREW WITH 12" EMBEDMENT
INTO BEAM AT EACH RAFTER

METAL ROOF

 PT 10.5X27.5 GLULAM

PT 2X6 T&G SHEATHING

PT 5 X 15.125 GLULAM
RAFTERS 60" O.C. CUT AS
INDICATED AT EAVE (TYP.)

12
"

2' - 6"

8 
3/

8"

METAL DRIP (TYP.)

(1) First Floor
0"

(0) T.O. Foundation
-2' - 0"

T.O.P. Rafters
8' - 6"

Closet
3/4"

3" 3"

3"

A4.1
6

CEDAR WOOD SHINGLES
ON 30# BUILDING FELT

1/4" 
12"

1/4" 
12"

2X6 RAFTERS 16" O.C.

1/2” PW

1/2” PW SHEATHING NAILED
3” O.C. AT EDGES AND 6”
O.C. AT FIELD W/ 8d NAILS

2X6 FRAMING 16” O.C.

SIMPSON 2.5 TIE AT
RAFTER BEARING (TYP.)

1/2” PW

5/8” GALV ANCHOR BOLT 48”
O.C. MAX AND 12” MAX. FROM
CORNERS (TYP.)

#5 VERT. REBAR 24" O.C.
& 24" INTO SLAB (TYP.)

#5 CONT. HORZ. REBAR (TYP.)

WWF IN 4” CONC
FLOOR

(3) #5 CONT. REBAR IN 18" X 8"
WALL FOOTING 24" LAP INTO
COLUMN FOOTING (TYP.)

DOUBLE PT BOTTOM PLATE
(TYP.)

8” CONC WALL
(TYP.)

3/
4"

24
"

8"

18"

FLASHING (TYP.)

EXPANSION JOINT

10
 1

/2
"

10
 1

/2
"

3/4" REVEAL (TYP.)

COMPACTED FILL

(1) First Floor
0"

(0) T.O. Foundation
-2' - 0"

Closet
3/4"

A

Top Column A1&3
13' - 9 3/4"

METAL ROOF
3/

4"
24

"
36

"

84"

MIN. TYP.
3"

M
IN

. T
YP

.
3"

M
IN

. T
YP

.
3"

5000 PSI CONC.

14 - #6 REBAR  EACHWAY

14 - #6 REBAR  EACHWAY

3/4" ANCHOR BOLTS &
LEVELING NUTS WITH 24"
FOOTING EMBEDMENT

#5 VERT. REBAR 24" O.C.
& 24" INTO SLAB

#5 CONT. HORZ. REBAR

3/4" HOT-DIPPED GALV.
STEEL BOLTS (TYP.)

NON- SHRINK GROUT

3/4" STEEL PLATE BASE

8" SCH 40 HOT-DIPPED GALV.
STEEL PIPE COLUMN

1/2" HOT-DIPPED
GALV. STEEL PLATE

2" HOT-DIPPED GALV.
STEEL PIPE

PT 10.5X27.5 GLULAM

PT 2X6 T&G SHEATHING

PT 5 X 15.125 GLULAM
RAFTERS 60" O.C.

WWF IN 4” CONC.
SLAB

MIN. TYP.
3"

5/8" HOT-DIPPED GALV. LAG
SCREW WITH 12" EMBEDMENT
INTO BEAM AT EACH RAFTER

2
12

(3) #5 CONT. REBAR IN 18" X 8"
WALL FOOTING 24" LAP INTO
COLUMN FOOTING

PROVIDE ASPHALTIC
SEALER ON COLUMN AND
BASE PLATE FROM BASE
TO 8” ABOVE SLAB

COMPACTED FILL

3/4" REVEAL

2"
24

"

T.O.P. Rafters
8' - 6"

1/4" 
12"

LED LIGHT TAPE

PT 2X2

PT 2X4 PTD.

METAL DRIP EDGE SAME
COLOR AS PAINTED 2X4

MEMBRANE ROOF
WELDED TO METAL DRIP

WHITE FLASHING

SIDING

3 
1/

2"

(1) First Floor
0"

(0) T.O. Foundation
-2' - 0"

T.O.P. Rafters
8' - 6"

Closet
3/4"

A

3/
4"

24
"

36
"

84"

MIN. TYP.
3"

M
IN

. T
YP

.
3"

M
IN

. T
YP

.
3"

5000 PSI CONC.

14 - #6 REBAR  EACHWAY

14 - #6 REBAR  EACHWAY

3/4" ANCHOR BOLTS &
LEVELING NUTS WITH 24"
FOOTING EMBEDMENT

NON- SHRINK GROUT

3/4" STEEL PLATE BASE

8" SCH 40 HOT-DIPPED GALV.
STEEL PIPE COLUMN

WWF IN 4” CONC
SLAB

MIN. TYP.
3"

3/4” REVEAL

5000 PSI CONC AROUND
STEEL PIPE COLUMN

12"12"

A4.1
8

2"
24

"

COMPACTED FILL

T.O.P. Rafters
8' - 6"

A

2"

2"
1/

2"

2"1' - 0"

4"

CONC AROUND STEEL COLUMN
PROVIDE STEEL 24" DIA. COLUMN
FORM  AND 28" DIA "SONOTUBE"
FOR TOP WITH PW BASE.

WHITE 100% SILICONE
ROOF TOPPING.
GACOROOF OR EQUAL

1/4" 
12"

STEEL 24" DIA COLUMN FORM

3/4" PW BASE FORM

28" DIA. "SONOTUBE" TOP FORM

51211

AROL
IN

CHT
ON AR

H E D,
N

SG
A

A

N C

D
E
R
E
T

SI
G
E

R

AR
CH

IT TEC URAL
CO

R
P
O
R
A
IO
N

T

ANETSAK
&

C
A
H
O
O
N

RCH

IT
E
C
T
S
,
P.C

.

7220

M
A

R
K

AR EY KAS

T
E
N

DERETSI
GE

R

ARCHIT

T

AROL
IN

CHT
ON

EC

AR

H E D,
N

SG
A

A

N C

D
O

W
D

Y 
PA

R
K

 - 
PH

A
SE

 1
SI

TE
 D

EV
EL

O
PM

EN
T 

PL
A

N

CONSTRUCTION
DO NOT USE FOR

DATE:

DRAWN BY:

DESIGNED BY:

PROJECT NO:

FILE:

PRELIMINARY PLANS
FOR REVIEW ONLY

SCHEMATIC DESIGN

R
E
V
IS
IO
N
S

TO
W

N
 O

F 
N

A
G

'S
 H

EA
D

, N
C

30
05

 S
O

UT
H 

CR
O

AT
AN

 H
IG

HW
AY

TOWN OF NAGS HEAD
DEPARTMENT OF PUBLIC WORKS

P.O. BOX 99
NAGS HEAD, NC 27959

252.441.1122 ▪ www.nagsheadnc.gov

CLH Design, PA
400 Regency Forest Dr.
Suite 120

Phone: 919.319.6716
Fax:   919.319.7516

Cary, NC 27518

LA: C-106 PE: C-1595

CLHDESIGN

cahoon kasten
118 West Woodhill Drive
Nags Head, North Carolina 27959

252.441.0271 252.441.8724
office@obxarchitects.com

+

P. F.
E.

A     R     C     H     I     T     E     C     T     S

16005RF

Pavilion Construction Details

June 2, 2016

MAK

MAK

A4.1

06/27/16

 3/4" = 1'-0"1 Eave Detail 01
 3/4" = 1'-0"2 Valley Detail

 3/4" = 1'-0"3 Eave Detail 02

 3/4" = 1'-0"4 Wall Section

 3/4" = 1'-0"5 Typical Column Section

 3" = 1'-0"6 Closet Eave Detail

 3/4" = 1'-0"7 Column A3 Section

 3" = 1'-0"8 Conc. Column Detail

N
o.

D
es

cr
ip

tio
n

D
at

e
1

AD
D

EN
D

U
M

 #
2

06
/2

7/
16

1

1

1
1





A1

8

A4.3

2"

2"

10 1/2"

6"

6"

3/4" DIA. HOLE FOR LAG
SCRWEW INTO VALLY BEAM

CENTER LINE OF VALLY BEAM

1" BOLT HOLE (TYP.)

LINE OF RAFTER

LINE OF VALLEY BEAM

3/8" PLATE STEEL (TYP.)

3 
13

/1
6" 3/8

3/8

3/8

3/8

3/4" HOLE FOR LAG SCREW
INTO VALLEY BEAM

1" BOLT HOLE (TYP.)

3/
8"

12 9/16"

88
.09

° 91.91°

3/8

3/8" STEEL PLATE (TYP.)

1 
3/

8" 2"

6 3/8"6 3/8"

2"
4"

4"
2"

12
"

2"
4"

4"
2"

12
"

2"

3/4" BOLT HOLE

1" BOLT HOLE (TYP.)

3/8" STEEL PLATE (TYP.)

3/4" BOLT HOLE

1" BOLT HOLE (TYP.)

3/8" STEEL PLATE (TYP.)

3/4" BOLT HOLE

1" BOLT HOLE (TYP.)

3/8" STEEL PLATE (TYP.)

3/4" BOLT HOLE

1" BOLT HOLE (TYP.)

3/8" STEEL PLATE (TYP.)

3/4" BOLT HOLE

1" BOLT HOLE (TYP.)

3/8" STEEL PLATE (TYP.)

3/4" HOLE FOR LAG SCREW
INTO VALLEY BEAM

1" BOLT HOLE (TYP.)

6 1/4"

88
.09

°

3/
16

"

3/8

3/8" STEEL PLATE (TYP.)

2"
4"

4"
2"

12
"

6 3/8"

2"

A1

10

A4.3

3/4" DIA. HOLE FOR
LAG SCRWEW INTO
VALLY BEAM

CENTER LINE OF
VALLY BEAM

1" BOLT HOLE (TYP.)LINE OF RAFTER

LINE OF VALLEY BEAM

3/8" PLATE STEEL
(TYP.)

3/8

3/8

5 1/4"6"

2"

10 1/2"

3 
13

/1
6"

B

3 
1/

2"

3" 3"

3/4" HOLE FOR LAG SCREW
INTO VALLEY BEAM

1" BOLT HOLE (TYP.)

3/
8"

12 9/16"

88
.09

° 91.91°

3/8

3/8" STEEL PLATE (TYP.)

1 
3/

8" 2"

12 3/8"6 3/8"

2"
4"

4"
2"

1

BA1

10 1/2"

3" 3" 2"

3/4" DIA. HOLE FOR LAG
SCRWEW INTO VALLY BEAM

CENTER LINE OF VALLY BEAM

1" BOLT HOLE (TYP.)

LINE OF RAFTER

LINE OF VALLEY BEAM

3/8" PLATE STEEL (TYP.)

3/8

3/8

3/8

3/8

9

A4.3

2"

6"

12"

3 
13

/1
6"

A1

3/8

3/8

3/4" DIA. HOLE FOR LAG
SCRWEW INTO VALLY BEAM

CENTER LINE OF VALLY BEAM

1" BOLT HOLE (TYP.)

LINE OF RAFTER

LINE OF VALLEY BEAM

3/8" PLATE STEEL (TYP.)
3 

13
/1

6"

6"

2"

6

A4.3

5 1/4"

10 1/2"3 
13

/1
6"

3/
16

"

3/4" HOLE FOR LAG SCREW
INTO VALLEY BEAM

1" BOLT HOLE (TYP.)6 5/16"

91.91°

3/8

3/8" STEEL PLATE
6 3/8"

1 
3/

8"

12
"

2"

2"
4"

4"
2"

A

2"
4"

4"
2"

2" 3" 3"

3/
8"

3/4" HOLE FOR LAG SCREW
INTO VALLEY BEAM

1" BOLT HOLE (TYP.)
12 9/16"

88
.09

° 91.91°

3/8

3/8" STEEL PLATE (TYP.)12 3/8" 6 3/8"

1 
3/

8"

4"

12
"

2"

2"
2"

3

AA1

2" 3" 3"
3/8

3/8

3/4" DIA. HOLE FOR LAG
SCRWEW INTO VALLY BEAM

CENTER LINE OF VALLY BEAM

1" BOLT HOLE (TYP.)

LINE OF RAFTER

LINE OF VALLEY BEAM

3/8" PLATE STEEL (TYP.)

3/8

3/8

2"

3 
13

/1
6"

12"

6"

10 1/2"

7

A4.3 51211

AROL
IN

CHT
ON AR

H E D,
N

SG
A

A

N C

D
E
R
E
T

SI
G
E

R

AR
CH

IT TEC URAL
CO

R
P
O
R
A
IO
N

T

ANETSAK
&

C
A
H
O
O
N

RCH

IT
E
C
T
S
,
P.C

.

7220

M
A

R
K

AR EY KAS

T
E
N

DERETSI
GE

R

ARCHIT

T

AROL
IN

CHT
ON

EC

AR

H E D,
N

SG
A

A

N C

D
O

W
D

Y 
PA

R
K

 - 
PH

A
SE

 1
SI

TE
 D

EV
EL

O
PM

EN
T 

PL
A

N

CONSTRUCTION
DO NOT USE FOR

DATE:

DRAWN BY:

DESIGNED BY:

PROJECT NO:

FILE:

PRELIMINARY PLANS
FOR REVIEW ONLY

SCHEMATIC DESIGN

R
E
V
IS
IO
N
S

TO
W

N
 O

F 
N

A
G

'S
 H

EA
D

, N
C

30
05

 S
O

UT
H 

CR
O

AT
AN

 H
IG

HW
AY

TOWN OF NAGS HEAD
DEPARTMENT OF PUBLIC WORKS

P.O. BOX 99
NAGS HEAD, NC 27959

252.441.1122 ▪ www.nagsheadnc.gov

CLH Design, PA
400 Regency Forest Dr.
Suite 120

Phone: 919.319.6716
Fax:   919.319.7516

Cary, NC 27518

LA: C-106 PE: C-1595

CLHDESIGN

cahoon kasten
118 West Woodhill Drive
Nags Head, North Carolina 27959

252.441.0271 252.441.8724
office@obxarchitects.com

+

P. F.
E.

A     R     C     H     I     T     E     C     T     S

16005RF

Pavilion Rafter Tie Details

June 2, 2016

MAK

MAK

A4.3

06/27/16

 1" = 1'-0"3 Valley Tie Detail C

 1" = 1'-0"8 Valley Tie Detail C.01

11 Valley Tie C Iso12 Valley Tie B Iso13 Valley Tie A Iso 14 Valley Tie D Iso 15 Valley Tie E Iso

NOTE: ALL STEEL FABRICATIONS
SHALL BE HOT-DIPPED GALVANIZED
AFTER FABRICATION

N
o.

D
es

cr
ip

tio
n

D
at

e
1

AD
D

EN
D

U
M

 #
2

06
/2

7/
16

 1" = 1'-0"10 Valley Tie Detail E.01

 1" = 1'-0"5 Valley Tie Detail E

 1" = 1'-0"9 Valley Tie Detail D1.01

 1" = 1'-0"4 Valley Tie Detail D1
 1" = 1'-0"1 Valley Tie Detail A

 1" = 1'-0"6 Valley Tie Detail A1.01
 1" = 1'-0"7 Valley Tie Detail B1.01

 1" = 1'-0"2 Valley Tie Detail B1

1 1 1
1



▪ 

06-02-2016

Robert
Stamp



▪ 

06-02-2016

Robert
Stamp



▪ 

·
·

06-02-2016

Robert
Stamp



▪ 

06-02-2016

Robert
Stamp



▪ 

06-02-2016

Robert
Stamp



▪ 

06-02-2016

Robert
Stamp



k

k

k

k

k

k

k
k

k
k

k

k

k

k

k
k

k
k

k
k

k
k

k
k

k
k

k
k

k
k

k
k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k
k

k
k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

k

▪ 

06-02-2016

Robert
Stamp



1

3

BA

2

A1

1

3

BA

2

A1

▪ 

06-02-2016

Robert
Stamp




